19:40"21:00(8043)

2025 1 January
A X &
1 2 3 4 5
Ivvad
*9X
tha th#
TY—+
=7
6 7 8 9 10 11 12
o [B#HHREL b 5—]
Tvvad 171001740040
$ox | UBHTHRELESE—] (RHTRREA L 5—] | [BHmaeimdt 5]
17:45"18:30(4543) 17:0017:45(45%}) 18:00°18:45(4543)
Sa=y | UEHEHEEL L] [BHTHREL > 5—]
18:35"19:35(60%}) 19:0020:00(60%3)
Ty—t VBT ARL L 5]
D 4 (B REL 5]
19:40°21:00(80%})
13 14 15 16 17 18 19
s [T LT
Tvvad 171001740040
g [E#mitRELt4—] [B#HH RN 5—] [BATHREL > 5—]
17:45"18:30(454)) 17:0017:45(45%}) 18:00°18:45(4543)
$a=7 [Esthi @it 5—] (@t mt b 5—]
18:35°19:35(60%}) 19:0020:00(6043)
Ty— [ttt 5—]
18:00"19:00(604})
o=y | [EEmRAmEES—]
19:40"21:00(8043)
20 21 22 23 24 25 26
s (A TR 5]
Tvvad 17100 1740(402%)
Fy [t R t4—] [t emit4—] [BHmitemi -t 4—]
17:45718:30(454}) 17:00717:45(45%) 18:00"18:45(4543)
$a=7 [t Rmt4—] [BHmitema -t 4—]
= 18:35°19:35(60%}) 19:0020:00(6043)
Ty— [ttt 5—]
18:00"19:00(604})
o=y | [EEmRAmEES—]
19:40"21:00(804})
27 28 29 30 31
s (A TR 5]
Tvvad 17100 1740(402%)
Fy [t R t4—] [t emit4—] [BHmitemia -t 4—]
17:45718:30(454}) 17:00717:45(45%) 18:00"18:45(4543)
$a=7 [t Rmat4—] [BHmitema -t 4—]
= 18:35°19:35(60%}) 19:0020:00(6043)
Ty— [t ema > 4—]
18:00"19:00(604})
=7 [t R t4—]
- 19:40"21:00(804})
2025 2 February
A K X & + =]
1 2
IvVad
FvX
az=7
y—+
=7
3 4 5 6 7 8 9
.83 [E#mHeELt2—]
Tvvad 17:00°1740(40%)
X9 [E#mHaELt2—] [E#mHeELt4—] [E#THeELty5—]
17:45718:30(45%)) 17:0017:45(45%)) 18:00°18:45(45%))
$a=F [E#mHaELt2—] [E#THeELty5—]
— 18:35°19:35(60%}) 19:00°20:00(60%3)
TU—k CEFhAaEL b 5—]
18:00°19:00(60%})
=7 [E#mHeELt2—]
= 19:40°21:00(80%)
10 11 12 13 14 15 16
> [t fmit4—]
Tvvad 17:00°17:40(402%)
Fo [t fmit4—] [Tt dmi > 4—] [EHmitemi -t 5—]
17:45"18:30(454}) 17:00717:45(45%3) 18:00"18:45(454%)
$a=7F [t fmit4—] [t et 5—]
= 18:3519:35(6043}) 19:00°20:00(6043)
y—h [EHmitema 5]
18:0019:00(6043)
o=y | UmAmHAREE5—]
19:40"21:00(8043)
17 18 19 20 21 22 23
.88 [E#miaELt2—]
Tvvad 17:00°1740(40%)
F9Z [EsmieELtys—] [E#mHeEL 5] [E#mHeEL 5]
17:45°18:30(45%)) 17:0017:45(45%)) 18:00°18:45(45%})
$a=F [EsmieELtys—] [E#mHeEL 5]
— 18:35"19:35(60%}) 19:0020:00(60%})
Ty—p [EFmeEaLts5—]
18:0019:0060%})
=7 [EmHeELtys—]
= 19:40°21:00(80%})
24 25 26 27 28
I [EHmieELt5—]
T¥vad 17:00°17:40402%)
FwX [Esrmit st 5—] [Esrmitamat > 5—] [Esmiamat > 5—]
” 17:4518:30(4543) 17:00717:45(45%3) 18:00™18:45(4553)
$a=F [Esrmitama b 5—] [Emiama > 5—]
— 18:35"19:35(60%3}) 19:00°20:00(6043)
y—p [fEmitema4—]
18:0019:00(6043)
=7 [Esmitamt b 5—]




2025

A X ES & T H
1 2
Ivvad
*9X
$a=7
TY—+
v=7
3 4 5 6 7 8 9
s (RFHH St 5—]
Tvvad 17:00°17:404022)
FoX [t et 5—] [t em s 4—] [t em -t 5—]
17:45718:30(45%3) 17:00717:45(45%3) 18:00718:45(45%3)
$a=F [msthitamitt5—] st mit > 5—]
18:35719:35(60%3) 19:00720:00(6053)
Ty—p (AL WAL > 5—]
18:00719:00(60%3)
o=y | (REGHEmEEE—]
19:4021:00(8043)
10 11 12 13 14 15 16
o [B#HHREL b 5—]
Tvvad 171001740040
Ed [E#mitRELt4—] [B#HH RN 5—] [BATHREL > 5—]
17:45"18:30(4543) 17:0017:45(45%}) 18:00°18:45(4543)
Gy | EFEHREREYS—] [BHTHREL > 5—]
18:35"19:35(60%}) 19:0020:00(60%3)
Ty—t [ﬂ?fgiﬁﬁﬁﬂtt‘z&—]
=7 BT REL 5]
- 19:40"21:00(804})
17 18 19 20 21 22 23
\8 [E#mHeEL by 4—]
Tvvad 17:00°1740(405)
Fw [E#THeEL b 4—] [E#mamt s 4—] [E#THEmL -t 5—]
17:4518:30(4553) 17:00717:45(45%3) 18:00"18:45(4543)
$a=7 [E#mHeEL b 4—] [E#THEmEL -t 5—]
— 18:35719:35(6053) 19:00720:00(6043)
Ty—h [E#memt s 4—]
18:00°19:00(60%3)
=7 [E#mHEEL s 4—]
- 19:40721:00(8043)
24 25 26 27 28 29 30
3 [t R t4—]
Tvvad 17100 1740(402%)
FwL [t R t4—] [t emit4—] [BHmitemia -t 4—]
17:45718:30(454}) 17:00"17:45(454}) 18:00"18:45(4543)
$a=7 [t Rmat4—] [BHmitema -t 4—]
= 18:35°19:35(60%}) 19:0020:00(6043)
Ty—h [EATHREL > 5—]
18:00"19:00(604})
=7 [t R tr4—]
- 19:40"21:00(8043)
31
ovad
FuX
$az=7 Wﬁ
Ty—k




